Algebra 2

Absolute Value / Inequalities review

Graph each equation.
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Describe the transtormations and then write the equation ot the graph below
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‘1'hree points that lie on a tunction 1(X) are shown below:

9) 10)

4
If the function is transformed by If the function is transformed by
y = 2-f(x - 2) -3 then find the new

1
coordinates of the points y= E'f(x +2) - 1 then find the new

coordinates of the points

11) The domain of a function is (-4, 6) and the range is (-2, 4). If it undergoes a transformation of y

1
= 5 - f(x + 2) - 4 what is the new domain and range of the function?

Solve each equation.

12) 4|-5x-5| -6=>54 13) 2|7k+3| -4=4

14) 6 - 4|6a—4| = -26 15) -2-6|2+4n| =-38

Solve for x; check for extraneous solutions

16) 2|2x - 3] +4=2x 17) —%|4—x|+1=x+3



Write a single absolute value equation that has the 1ollowing solutions

18) -4 and 4

20) -15and -2

Solve each inequality and graph its solution.

22) 3(b+4)>5+4b

4 5 6 7 8 9 10 11 12 13 14

24) 5(n-2) <-28 + 2n

-14 -12 -10 -8 -6 -4

19) -3 and 11

21) 4and 17

23) —6m + 20 > 4(1 - 2m)

-10 -8 -6 -4 -2 0

25) 16 — 4m = 6m — 6(m - 2)

-7 6 -5 4 -3 -2 -1 0 1 2 3

Solve the following compound Inequalities and then graph the solutions

26) 14 -5x<7 or 14-5x>-4

27) 3x-2>4 or 3x-2<-11




Solve each inequality and graph its solution.

30) 5|8 -6x| -4<16

-7 6 -5 4 -3 -2 -1 0 1 2 3 4 5

32) 7|8+ 8n| -5=107

-7 -6 -5 4 -3 -2-10 1 2 3 4 5 6

Solve the following inequality and then graph:

34) 3 -3<15x

—-X
2

31) 7|-7-n| +5<54

-16 -14 -12 -10 -8 -6 -4 -2 0 2

33) 9|10+ 6x| +4 > -14

-8 -7 6 -5 4 -3 -2-10 1 2 3 4

35) -2 +3=4x-5

5
— - 3x
3

Describe the set of solutions as an absolute value inequality

36) (-7,7)

38) (-,-14), (-6,+x)

37) [-2,8]

39) (-%,6), (11,+x)



Answers to Absolute Value / Inequalities review (1D: 1)
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4) . 5) right 2, down 3 6) left 1,up 4
4 fx)=|x-2|-3 fix)=-|x+1] +4
e 2 4 e
-
7) down 2, wider by 1/2 8) right 3, up 3, ref x-axis, steeper by 2
1 =_2|x-

f(x)=5|x|_2 fx)=-2|x-3|+3
9) ('1:5), (1:'5)7 (791) 10) (_3a0)7 (2,1)’ (3:'25) 11)
12) -4,2 1 2 15) i1,-2

) { } 13) {—, -1 14) {2,-—} 2 { }

7 3
16) no solution 17) x=-8 18) |x =4 19) |x—4| =7
17| 13 21| 13 22) b<T7: Sttt

20 X+—| =— 21 X—-——|=— o+ttt

) 2 2 ) 2 2 4 6 8 10 12 14
23y m>-8: 1+ g > 24) n=-6: —

10 -8 -6 -4 2 0 14 -12 10 -8 -6 -4

25 =1 < . 7 18 27 2 -

) m= . 0.é 26) x> L orx<S ) x>2 orx<-3

5 5
ALL solutions
28) -12<n<-2 29) _L<x<l
12 2
2
30) —<x<2:
3 -7 -6 -5-4-3-2-101 2 3 45
31) -14<=n<0: P Py
-16 -12 -8 -4 0

32) nzlorn=<-3:

= O———C >
7-6-5-4-3-2-10 123 456

33) —2<X<—i3 ——
3 8 -6-5-4-3-2-101 23 4
1 1
34) x=z-— 35) —zsxs—7 36) |x|<7
2 3 15
38) |x+10| >4 30 |x- 7 >§

37) |x-3| <5



